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TNPSC PRINCIPAL, INDUSTRIAL TRAINING INSTITUTE /ASSISTANT DIRECTOR OF 

TRAINING (TAMIL NADU EMPLOYMENT AND TRAINING SERVICE) 

 
1. The person who stated that Human experiences past, present and future influence 

the capacity to learn 
a. Pavlov    b. John Dewey  

c. M.K. Gandhi   d. Swami Vivekananda e. Answer not known 
kdpj mDgtq;fs; fle;j> epfo;fhyk; kw;Wk; vjph;fhyk; fw;wy; jpwidg; ghjpf;fpwJ 
vd;W $wpath;? 
a. ght;Nyh    b. [hd; ^ap 
c. vk;.Nf. fhe;jp   d. Rthkp tpNtfhde;jh e. tpil njhpatpy;iy 

 
2. Scientific knowledge is imbibed through 

a. Reasoning    b. Experimentation 
c. Problem solving ability  d. Reasoning and experimentation 
e. Answer not known 
mwptpay; mwpT cs;nsLf;fg;gl gad;gLtJ 
a. jhf;f jpwd;   b. ghpNrhjid jpwd; 
c. rpf;fy; jPh;f;Fk; jpwd;  d. jh;f;f kw;Wk; ghpNrhjid jpwd; 
e. tpil njhpatpy;iy 

 
3. The snow on the mountains does not melt all at once when it is heated by the sun 

because 
a. it has a low specific heat capacity 
b. it has high latent heat of fusion 
c. it becomes very hard 
d. it reflects most of the heat from the sun 
e. Answer not known 
#hpadpd; ntg;gj;jhy; kiyfspy; gbe;jpUf;Fk; gdp xNu Neuj;jpy; cUfhky; 
,Ug;gjw;fhd fhuzk; 
a. mjd; Fiwthd ntg;g Vw;G jpwd; 
b. mjd; mjpfkhd cUfypd; kiw ntg;gk; 
c. mJ kpfTk; fbdkhf ,Ug;gjhy; 
d. mJ #hpadpypUe;J tUk; ntg;gj;ij mjpf msT gpujp gypg;gjhy; 
e. tpil njhpatpy;iy 

4. LASERS used for hair transplantation is 
a. CO2 Laser   b. Nd: YAG Laser 
c. Ruby Laser   d. Diode Laser  e. Answer not known 
Nuhkq;fis khw;Wtjw;F gad;gLk; Nyrh; 
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a. CO2 Nyrh;   b. Nd: YAG Nyrh; 
c. &gp Nyrh;   d. ilNahL Nyrh; e. tpil njhpatpy;iy 

 
5. A boat having a length 3 m and breadth 2 m is floating on a lake. The boat sinks by 1 

cm when a man gets on it. The mass of the man is 
a. 12 kg  b. 60 kg  c. 72 kg d. 96 kg e. Answer not known 
Vhpapy; kpjf;Fk; xU glfpd; ePsk; 3 kP kw;Wk; mfyk; 2 kP. xU kdpjd; mjpy; VWk; 
NghJ glF 1 nr.kP ePhpy; mkpo;e;jJ vdpy;> me;j kdpjdpd; vil vd;d? 
a. 12 fpfp  b. 60 fpfp  c. 72 fpfp d. 96 fpfp e. tpil njhpatpy;iy 

 
6.  MUDRA provide loans to 

a. Corporate Business  b. Multinational Companies 
c. Small farmers   d. Micro-enterprises d. Answer not known 
Kj;uh jpl;lj;jpd; fPo; fld;fis ngWtJ 
a. ngU tzpf epWtdq;fs; b. gd;dhl;L epWtdq;fs; 
c. rpW tptrhapfs;   d. Ez; njhopy; epWtdq;fs; d. tpil njhpatpy;iy 

 
7. Development Financial institutions are 

1. IFCI  2. ICICI  3. IDBI  4. UTI 
Select the correct answer: 
a. 1 and 2 b. 3 and 4 c. 1 and 3  d. 1, 2, 3 and 4 e. Answer not known 
tsh;r;rpf;F topfhl;Lk; epjp epWtdq;fspd; fPo; tUtd 
1. IFCI  2. ICICI  3. IDBI  4. UTI 
rhpahd tpilia Njh;e;njLf;f 
a. 1 kw;Wk; 2 b. 3 kw;Wk; 4 c. 1 kw;Wk; 3  d. 1, 2, 3 kw;Wk; 4 e. tpil njhpatpy;iy 
 

8. Match the following: 
A. VAT   1. Multipoint tax with cascading effect 
B. GST   2. One point tax without cascading effect 
C. Sales Tax  3. Multipoint tax without cascading effect 
D. CGST   4. Collected by the Central Government for  

                                    Interstate sale 
E. IGST   5. Collected by the Central Government on an intra- 

                                    State sale 
A B C D E 

a. 1 2 4 5 3 
b.  3 2 1 5 4 

 c. 4 3 1 2 5 
 d. 2 1 3 5 4 

e. Answer not known 
 gpd;tUgtdtw;iw nghUj;Jf: 
 A. VAT  1. mbj;js tpisTs;s gy;Kid thpahFk; 

 B. GST  2. mbj;js tpistpy;yhj xU Kid thpahFk; 
 C. tpw;gidthp 3. mbj;js tpistpy;yhj gy;Kid thpahFk; 

 D. CGST  4. khepy muRfSf;F ,ilNaahd tpw;gidapy;  

E. IGAST  5. khepyj;jpw;Fs;Ns eilngWfpw tpw;gidapy; kj;jpa  
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murhy; t#ypf;fg;gLtjhFk;   
 

9. More persons are working, what is actually required on land, due to population 
called 
a. Disguised unemployment  b. Unemployment 
c. Under employment    d. Over employment 
e. Answer not known 
kf;fs;njhif fhuzkhf epyj;jpy; cz;ikapy; Njitg;gLtij tpl mjpfkhd 
egh;fs; Ntiy nra;fpwhh;fs;. mJ __________ MFk;. 

a. kiwKf Ntiyapd;ik    b. Ntiyapd;ik 
c. Fiw Ntiyapd;ik    d. epiw Ntiyapd;ik 
e. tpil njhpatpy;iy 

 
 

10. The scheduled castes Finance and Development corporations (NSFDC), work for the 
________ development of scheduled caste families. 
a. Political  b. Social  c. Education  d. Economic 
e. Answer not known 
gl;bay; rhjpapdh; epjp kw;Wk; Nkk;ghl;L epWtdk;> gl;bay; rhjpapdh; FLk;gq;fspd; 
_________ Nkk;ghl;bw;nfd ,aq;FfpwJ. 
a. murpay;  b. r%f  c. fy;tp  d. nghUshjhu 
e. tpil njhpatpy;iy 
 

 
11. If the earth rotates 17 times faster than its normal speed, then the earth will make one 

rotation in  
a. One day/24 hours   b. 5 : 30 hours 
c. 1 : 412 hours    d. 3 : 563 hours e. Answer not known 
G+kp jw;NghJ Rw;Wtij tpl 17 klq;F tpiuthf Rw;wp tUifapy;> G+kp xU 
Row;rpapid Kbf;f MFk; Neuk; 
a. xU ehs;/24 kzp Neuk;  b. 5 : 30 kzp Neuk; 
c. 1 : 412 kzp Neuk;   d. 3 : 563 kzp Neuk;  

e. tpil njhpatpy;iy 
 

 
12. Buffer solutions are used to 

a. Decrease the pH value  b. Change the pH value 
c. Increase the pH value  d. Maintain the pH value   

e. Answer not known 
jhq;fy; fiury; vjw;fhf gad;gLfpwJ? 
a. pH kjpg;ig Fiwf;f  b. pH kjpg;ig khw;Wtjw;F 
c. pH kjpg;ig mjpfhpf;f  d. pH kjpg;ig khwhky; itj;jpUf;f 

e. tpil njhpatpy;iy 
 
13. The processes by which organisms keep their internal conditions relatively stable is 

called 
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a. Metabolism   b. Homeostasis   
c. Hypostasis    d. Epistasis   e. Answer not known 
tpyq;Ffspd; cs;epiyia rPuhf itj;jpUg;gjw;F _________ vd;W 
miof;fg;gLfpwJ. 
a. nkl;lhghyprk;   b. `pNkh ];lhb]p]; 

c. i`g;Ngh];lhb]p];  d. vgp];lhb]p];  e. tpil njhpatpy;iy 
 

14. What is the fibrous sac covering in the heart? 
a. Myocardium    b. Endocardium   
c. Pericardium    d. Auriculo cardium e. Answer not known 
,jaj;ij Rw;wpAs;s ,ioAiw vJ? 
a. ikNahfhh;bak;    b. vz;Nlhfhh;bak; 

c. nghpf;fhh;bak;    d. mhpf;FNyhfhh;bak; e. tpil njhpatpy;iy 
 

15. In the National New Educational Policy (2020), the 10 + 2 model is proposed to be 
replaced as  
a. 5 + 4 + 3 + 3  b. 4 + 5 + 3 + 3 c. 5 + 3 + 3 + 4 d. 3 + 3 + 5 + 4 
e. Answer not known 
ekJ Njrj;jpd; Gjpa fy;tpf; nfhs;ifapy; (2020)> 10 + 2 vd;w mikg;G _____ vd 
khw;wg;gl cs;sJ. 
a. 5 + 4 + 3 + 3  b. 4 + 5 + 3 + 3 c. 5 + 3 + 3 + 4 d. 3 + 3 + 5 + 4 
e. tpil njhpatpy;iy 

 
16. How many days are there in x weeks x days? 

a. 7x2   b. 8x  c. 14x  d. 7  e. Answer not known 
 x thuk; x ehl;fspy; vj;jid ehl;fs; cs;sd? 

a. 7x2   b. 8x  c. 14x  d. 7  e. tpil njhpatpy;iy 
 

17. Two dice are rolled together, find the probability of getting a doublet (or) sum of face 
as 4? 

a. 
1

9
  b. 

2

9
  c. 

4

9
  d. 

5

9
  e. Answer not known 

,uz;L gfilfs; xU Kiw xUNru cUl;lg;gLfpd;wd. Kf vz;fs; rkkhf ,Uf;f 
my;yJ Kf vz;fspd; $Ljy; 4 fpilf;f epfo;jfT ahJ? 

a. 
1

9
  b. 

2

9
  c. 

4

9
  d. 

5

9
  e. tpil njhpatpy;iy 

 
18. If x : y = 1 : 3, then (7x + 3y) : (2x + y) = ? 

a. 4 : 5  b. 5 : 16 c. 5 : 4  d. 16 : 5   

e. Answer not known 
x : y = 1 : 3, vdpy; (7x + 3y) : (2x + y) = ? 
a. 4 : 5  b. 5 : 16 c. 5 : 4  d. 16 : 5   
e. tpil njhpatpy;iy 
 

19. If A : B = 6 : 12, B : C = 9 : 27, find the ratio of A : B : C? 
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A : B = 6 : 12, B : C = 9 : 27 vdpy; A : B : C - d; tpfpjj;ijf; fhz;f. 

a. 2 : 6 : 1 b. 1 : 2 : 6 c. 1 : 6 : 2 d. 2 : 1 : 6  
e. Answer not known 

 
20. Find the L.C.M of (x3 – 27), (x – 3)2, (x2 – 9) 

a. (x – 3)2 (x + 3) (x2 +3x + 9) b. (x – 3)2 (x + 3) 
c. (x + 3)2 (x - 3)   d. (x + 3) (x2 +3x + 9) e. Answer not known 
kP.rp.k. fhz;f: (x3 – 27), (x – 3)2, (x2 – 9) 
a. (x – 3)2 (x + 3) (x2 +3x + 9) b. (x – 3)2 (x + 3) 
c. (x + 3)2 (x - 3)   d. (x + 3) (x2 +3x + 9) e. tpil njhpatpy;iy 

 
 

21. Why the ‘Rainbow revolution’ is so called? 
a. Agricultural revolution 
b. Revolution in Agricultural and Industrial output 
c. IT revolution 
d. Industrial revolution 
e. Answer not known 
‘thdtpy; Gul;rp’ vd Vd; miof;fpNwhk; 

a. Ntshz; Gul;rp  
b. Ntshz; kw;Wk; njhopw; cw;gjjpapy; Gul;rp 
c. jfty; njhopw; El;g Gul;rp 
d. njhopw; Gul;rp 
e. tpil njhpatpy;iy 

  
22. Which of the following is the First Smart Tribal Village in Jammu & Kashmir? 

a. Srinagar  b. Baramula  c. Habbi  d. Rajauri 
e. Answer not known 
[k;K kw;Wk; fh~;kPhpd; Kjy; njhopy;El;g (Smart) goq;Fb fpuhkk; fPo;fhz;gitapy; 
vJ? 
a. =efh;  b. guhKyh  c. `g;gp  d. u[t;hp 
e. tpil njhpatpy;iy 

 
23. First Five year plan Model is 

a. Mahalanobis Model  b. Garibi Hato Model 
c. Nehruvian Model   d. Harrod Domar Model e. Answer not known 
Kjy; Ie;jhz;L jpl;lk; ve;j jpl;l khjphpia mbg;gilahf nfhz;lJ 
a. nkfyhNehgp]; khjphp  b. fhpgp `l;Nlh khjphp 

c. NeUtpd; khjphp   d. `huhl;-Nlhkhh; khjphp 
e. tpil njhpatpy;iy 
 

24. Match the following: 
Social Reform    Reformers 

A. Abolition of Sati   1. Ishwarchandra Vidyasagar 
B. Temple Entry for Dalits  2. Thanthai Periyar 
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C. Widow Remarriage Act  3. Raja Ram Mohan Roy 
D. Self respect movement  4. Ambedkar 
nghUj;Jf 

r%f rPh;jpUj;jk;      rPh;jpUj;jthjpfs; 
A. cld;fl;il Kiw xopg;G   1. <];th;re;jpu tpjpahrhfh; 
B. jypj; kf;fSf;fhd Mya gpuNtrk;  2. je;ij nghpahh; 
C. tpjit kWkz rl;lk;    3. uh[huhk; Nkhfd; uha;  
D. jPz;lhikf;nfjpuhd Rakhpahij ,af;fk;  4. mk;Ngj;fh; 

 A B C D 
 a. 3 4 1 2 
 b.  4 3 2 1 
 c. 1 3 4 2  
 d. 3 2 4 1 

e. Answer not known 
 
25. Who favoured the permanent settlement but urged that the Government should fix 

the maximum rent to be paid by each cultivator? 
a. Lord Cornwallis   b. Raja Ram Mohan Roy 
c. Lord Munro   d. Dada Bhai Nauroji e. Answer not known 
epue;ju epythpia Mjhpj;Jk; kw;Wk; murpdhy; tpjpf;fg;gLk; mjpfg;gbahd thpia 
xt;nthU jdp egNu fl;lNtz;Lnkd $wpaJ ahh;? 
a. fhud;thyp]; gpuG   b. ,uh[h uhk; Nkhfd;uha; 
c. kd;Nuh gpuG   d. jhjhgha; nesNuh[p e. tpil njhpatpy;iy 

 
26. The five new districts created in 2019 in Tamil Nadu 

a. Tirupattur, Ranipet, Kallakurichi, Chengalpet, Tenkasi 
b. Tiruvarur, Tenkasi, Ranipet, Kallakurichi, Chengalpet 
c. Tiruvarur, Ranipet, Krishnagiri, Chengalpet, Tenkasi 
d. Ariyalur, Ranipet, Tenkasi, Tirupattur, Chengalpet 
e. Answer not known 
2019-k; Mz;by; jkpo; ehl;by; cUthf;fg;gl;l Gjpa 5- khtl;lq;fs; 
a. jpUg;gj;J}h;> uhzpg;Ngl;il> fs;sf;Fwpr;rp> nrq;fy;gl;L> njd;fhrp 
b. jpUth&h;> njd;fhrp> uhzpg;Ngl;il> fs;sf;Fwpr;rp> nrq;fy;gl;L 
c. jpUth&h;> uhzpg;Ngl;il> fpU~;zfphp> nrq;fy;gl;L> njd;fhrp> 
d. mhpaY}h;> uhzpg;Ngl;il> njd;fhrp> jpUg;gj;J}h;> nrq;fy;gl;L 
e. tpil njhpatpy;iy 

 
27. Identify the great woman writer among all the following four 

a. Suratha b. Sujatha c. Mowni d. Ambai  e. Answer not known 
rpwe;j ngz; vOj;jhsh; ngahpid kl;Lk; Rl;Lf. 
a. Rujh b. R[hjh c. nksdp d. mk;ig  e. tpil njhpatpy;iy 

 
28. Consider the following statements: 

1. Vinod Kumar Shukla was the recipient of the first Mathrubhumi book of the year 
award 

2. He is a Malayalam poet and novelist 
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3. He translated the book “Blue is like Blue” 
4. He won Sahitya Akademi Award in 1999 
From the above which are correct? 
a. 1, 2 and 3 are correct  b. 1, 3 and 4 are correct 

c. 2, 3 and 4 are correct  d. 1, 2 and 4 are correct e. Answer not known 
gpd;tUk; $w;Wfis fUj;jpy; nfhs;f. 
1. tpNdhj; Fkhh; Rf;yh khj;U G+kp tUl rpwe;j Gj;jf tpUij Kjd; Kjypy; 

ngw;wth; Mthh;. 
2. mth; xU kiyahs ftpijahsh; kw;Wk; ehtyhrphpah; 
3. ePyk; ePykhf ,Uf;fpwJ vd;w E}iy nkhop ngah;j;jth; 
4. ,th; 1999-,y; rhfpj;a mfhlkp tpUij ngw;wth; 
NkNy fz;ltw;Ws; rhpahdit vit? 
a. 1> 2 kw;Wk; 3 rhp  b. 1> 3 kw;Wk; 4 rhp 
c. 2> 3 kw;Wk; 4 rhp  d. 1> 2 kw;Wk; 4 rhp e. tpil njhpatpy;iy 

 
29. Match the following 

Mountain      Height 
A. The Sivalik Range     1. Less than 1220 meters 
B. The Great Himalaya (or) Himadri  2. Average 6100 meters      
C. The Eastern Highlands (Purvachal)  3. Highest point 4578 meters 
D. The Blue Mountain    4. 2157 meters 
fPo;fz;ltw;iw nghUj;Jf: 

kiy       cauk; 
A. rpthypf;Fd;W    1. 1220 kP Fiwthf 
B. ,kakiy (my;yJ) `pkhj;hp  2. 6100 kP ruhrhpahf 
C. fpof;F cah; epyq;fs; (gh;thr;ry;)  3. 4578 kP caukhdg; gFjp 
D. ePy kiy     4. 2157 kP 

A B C D 
a. 2 1 4 3 

 b.  1 3 2 4 
 c. 2 3 4 1  
 d. 4 2 3 1 

e. Answer not known 
 
30. World’s highest Active Volcano is found in 

a. Japan  b. Italy  c. Ecuador  d. Kenya 
e. Answer not known 
cyfpd; kpf cah;e;j nray;gLk; vhpkiy fhzg;gLk; ehL 
a. [g;ghd;  b. ,j;jhyp  c. <f;tlhh;  d. nfd;ah 
e. tpil njhpatpy;iy 

 
31. The editor of “The Hindustan Review”, an English Monthly Magazine, published by 

the Indian Press in Allahabad 
a. Sachchidananda Sinha  b. T.M. Nair 
c. Surendranath Banerjee  d. Henry Vivian Derozio e. Answer not known 
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myfhghj;jpypUe;J ,e;jpad; gpu];]hy; ntspte;j Mq;fpy khj ,johd 
“,e;J];jhd; hptpt;”-tpd; Mrphpauhf ,Ue;jth; 
a. rr;rpjhde;j rpd;Nfh  b. b.vk;.ehah; 
c. RNue;jpuehj; ghdh;[p  d. n`d;wp tptpad; NlNuhrpNah e. tpil 
njhpatpy;iy 
 

 
32. Which of the following statements on Vanchinathan are correct? 

i. He belonged to Travancore state of that time 
ii. He was employed as a forest guard at Punalur 
iii. He was one of the members of Bharata Mata Association 
iv. He was trained in the use of Revolver by Subramania Siva at Pondicherry 
a. i, iii and iv are correct  b. i, ii and iii are correct 
c. i, ii, iii and iv are correct  d. ii, iii and iv are correct e. Answer not known 
thQ;rpehjidg; gw;wpa gpd;tUk; $w;Wfspy; rhpahdtw;iw Njh;e;njLf;f. 
i. mth; mg;Nghija jpUtpjhq;$h; rk];jhdj;ijr; Nrh;e;jth; 
ii. mth; GdY}hpy; tdghJfhg;ghsuhf gzpahw;wpdhh; 
iii. ghuj khjh rq;fj;jpd; cWg;gpdh;  
iv. ghz;br;Nrhpapy; Rg;gpukzpa rpththy; Jg;ghf;fp RLk; gapw;rp ngw;wth; 
a. i, iii kw;Wk; iv rhp  b. i, ii kw;Wk; iii rhp 
c. i, ii, iii kw;Wk; iv rhp  d. ii, iii kw;Wk; iv rhp e. tpil njhpatpy;iy 
 

 
33. The policy of British rule in India was 

a. Castless Society   b. Unity in Diversity 
c. Open Door Policy   d. Divide and Rule  e. Answer not 
known 
,e;jpahtpy; Mq;fpNyah;fs; gpd;gw;wpa nfhs;if 
a. rhjpaw;w rKjhak;  b. Ntw;Wikapy; xw;Wik 
c. jpwe;jntspf; nfhs;if  d. gphpj;jhSk; nfhs;if  e. tpil njhpatpy;iy 
 

34. Why did Nana Sahib develop a grudge against the British? 
a. No Successor    b. Not a good administrator 
c. His pension rejected   d. Traitor  e. Answer not known 
ehdh rhNfg; Mq;fpNyah;fSf;F vjpuhf kd ntWg;ig tsh;j;J nfhz;lJ Vd;? 
a. thhprpy;iy    b. rpwe;j eph;thfpay;y 
c. Xa;T+jpak; kWf;fg;gl;lJ   d. JNuhfp  e. tpil njhpatpy;iy 

 
35. Who was acclaimed as the “Diamond of India”, due to his invaluable services to the 

Nation? 
a. Gopala Krishna Gokhale  b. Bala Gangadhar Tilak 
c. Sardar Vallabhai Patel   d. Lala Lajpat Rai  e. Answer not known 
tpiykjpg;gw;w Nritfshy; ,e;jpahtpd; itukhf ghuhl;lg;gl;lth; ahh;? 
a. Nfhghy fpU~;z NfhfNt  b. ghy fq;fhjh; jpyfh; 
c. rh;jhh; ty;ygha; gl;Nly;   d. yhyh y[;gj;uha;  e. tpil 
njhpatpy;iy 
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36. Find GCD of 2x2 – 18 and x2 – 2x – 3 
a. (x + 3) b. (x – 3) c. (x + 1) d. (x – 1) e. Answer not known 
2x2 – 18 kw;Wk; x2 – 2x – 3 -,d; kP.ngh.t. fhz;f. 

a. (x + 3) b. (x – 3) c. (x + 1) d. (x – 1) e. tpil njhpatpy;iy 
 

37. Find the HCF of 
2 4 6

,
3 5 25

and   is 

a. 2  b. 
2

25
  c. 

2

75
  d. 

6

25
  e. Answer not known 

 
2 4

,
3 5

kw; Wk;
6

25
d; kP.ngh.t. ahJ? 

a. 2  b. 
2

25
  c. 

2

75
  d. 

6

25
  e. tpil njhpatpy;iy 

 

38. What will be the next term of the following series 
3 1 1 1

, , , , .....
16 8 12 18

 

3 1 1 1
, , , , .....

16 8 12 18
 vd;w njhlh; thpirapd; mLj;j cWg;G 

a. 
1

24
  b.

1

27
 c. 

2
 
3

  d. 
1

81
  e. Answer not known 

 
39. Find the sum of 152 + 162 + 172 + ….. + 282 

152 + 162 + 172 + ….. + 282  apd; $Ljy; fhz;f. 
a. 9966 b. 9696 c. 6969  d. 6699 e. Answer not known 

 
40. A heater users 3 units of electricity in 40 minutes. How many units does it consume 

in 2 hours? 
a. 4 units b. 8 units c. 9 units d. 7 units e. Answer not known 
xU #Nlw;Wk; rhjdk; 40 epkplj;jpy; 3 a+dpl;fs; kpd;rhuj;ij jz;zPiu #Nlw;w 
vLj;Jf; nfhz;lhy; ,uz;L kzp Neuj;jpw;F vj;jid a+dpl; kpd;rhuj;ij vLj;Jf; 
nfhs;Sk;? 
a. 4 a+dpl;fs;   b. 8 a+dpl;fs;   
c. 9 a+dpl;fs;   d. 7 a+dpl;fs; e. tpil njhpatpy;iy 

 
 
41. Which of the following statements is incorrect with respect to Alluvial Soil? 

a. Frequently inundated by floods during the rainy season 
b. Low nitrogen and varying percentage of calcium carbonate 
c. The colour the alluvial soils varies from light grey to dark grey 
d. Rich in humus phosphoric acid, lime and organic matter 
e. Answer not known 
tz;ly; kz;iz nghWj;jtiu gpd;tUk; ve;j $w;W jtwhdJ? 
a. kiof; fhyq;fspy; mbf;fb nts;sj;jhy; %o;Fk; 
b. Fiwe;j iel;u[d; kw;Wk; fhy;rpak; fhh;gNdl;bd; khWgl;l rjtPjk; 
c. kz;zpd; epwk; ntsph; rhk;gy; Kjy; mlh; rhk;gy; tiu khWgLk; 
d. kl;fpa> gh];Nghhpf; mkpyk;> Rz;zhk;G kw;Wk; fhpkg; nghUl;fs; epiwe;jit 
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e. tpil njhpatpy;iy 
 

42. Match the following: 
Tribe           State 

A. Banchharas  1. Bihar 
B. Koras   2. Rajasthan 
C. Padhar   3. Madhya Pradesh 
D. Rabari   4. Gujarat  

A B C D  
a. 1 3 4 2 
b.  2 4 3 1  

 c. 3 1 4 2  
 d. 3 1 2 4  

e. Answer not known 
fPo;fz;ltw;iw nghUj;Jf: 
 goq;Fbapdh;   khepyk; 
A. gQ;rhuh];   1. gPfhh; 
B. Nfhu];   2. ,uh[];jhd; 
C. gjh;   3. kj;jpag; gpuNj~; 
D. ughp    4. F[uhj; 

 
Environmental pollution: Reasons and preventive measures  

 
43. Which among the following is known to be prime effect of thermal pollution on 

aquatic systems? 
a. decrease in dissolved oxygen   b. increase in toxins 
c. makes unfit for use    d. increases evaporation rate 
e. Answer not known 
ePh;epiyr; #oypy; ntg;gkhf Vw;gLj;Jk; ghjpg;Gfspy; Kjd;ikahdjhf mwpag;gLtJ? 
a. ePhpy; Mf;]p[dpd; msT Fiwjy; 
b. ePhpd; er;R mjpfhpj;jy; 
c. gad;ghl;Lf;F cfe;jjw;wjhf khw;Wjy; 
d. Mtpahjiy Jhpjg;gLj;Jjy; 
e. tpil njhpatpy;iy 

 
44. Activities taken to ensure that the needs of victims are met and suffering is 

minimised 
a. Emergency response activities 
b. Response and recovery activities 
c. Preparedness activities 
d. Disaster management 
e. Answer not known 
ghjpf;fg;gl;lth;fspd; Njitfs; kw;Wk; Vw;ghLfs; G+h;j;jp nra;ag;gLtijAk; 
Jd;gq;fs; Fiwf;fg;gLtijAk; cWjpnra;a vLf;fg;gLk; eltbf;iffs; 
a. mtru fhy gjpy; eltbf;iffs; 
b. gjpy; kw;Wk; kPl;G eltbf;iffs; 
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c. Maj;j eltbf;iffs; 
d. Nghplh; Nkyhz;ik 
e. tpil njhpatpy;iy 

 
45. The script of Indus valley people was 

a. Brahmi script   b. Vattelluthu 
c. Grantha script   d. Pictographic script e. Answer not known 
rpe;J rkntsp kf;fspd; vOj;J Kiw 
a. gpuhkp vOj;J   b. tl;nlOj;J  
c. fpue;j vOj;J   d. rpj;jpu vOj;J  e. tpil njhpatpy;iy 

 
46. Kamaraj was elected as the Chairman of Virudhunagar Municipality in 1941 when he 

was in 
a. Vellore Jail    b. Palayamkottai Jail    
c. Virudhunagar Jail    d. Madras Jail  e. Answer not 
known 
1941-Mk; Mz;L tpUJefh; efuhl;rp jiytuhf fhkuh[h; Njh;e;njLf;fg;gl;l NghJ 
mth; ,Ue;j ,lk; 
a. NtY}h; rpiw    b. ghisaq;Nfhl;il rpiw 
c. tpUJefh; rpiw    d. nkl;uh]; rpiw  e. tpil njhpatpy;iy 

 
47. Assertion (A): Justice Party demanded communal representation  

        for non-Brahmins. 
Reason (R): Periyar came out of congress party since his  

demand for communal representation rejected. 
a. Both (A) and (R) are true and (R) is the correct explanation of (A) 
b. Both (A) and (R) are true but (R) is not the correct explanation of (A) 
c. (A) is true but (R) is false 
d. (A) is false but (R) is true 
e. Answer not known 
$w;W (A): ePjpf;fl;rp gpuhkzuy;yhNjhUf;fhd tFg;G thhp  

gphpjpepjpj;Jtj;ij Ntz;baJ. 
fhuzk; (R): nghpahhpd; Ntz;Ljyhd tFg;Gthj gpujpepjpj;Jtk; fhq;fpu]hy; 

epuhfhpf;fg;gl;l fhuzj;jhy; nghpahh; fhq;fpu]pypUe;J tpyfpdhh;. 
a. (A) kw;Wk; (R) ,uz;Lk; rhp (R) vd;gJ (A) f;fhd rhpahd tpsf;fkhFk;. 
b. (A) kw;Wk; (R) ,uz;Lk; rhp Mdhy; (R) vd;gJ (A) f;fhd rhpahd tpsf;fky;y 
c. (A) rhp Mdhy; (R) jtW 
d. (A) jtW Mdhy; (R) rhp 
e. tpil njhpatpy;iy 

 
48. Which of the means adopted under self-respect movement 

(i) Violent protests against upper classes 
(ii) Undermine position of Brahmin priests by formalizing weddings without 

them 
(iii) Boycott of temples and places of Brahmin residence 
a. (i) and (iii)    b. only (ii)   c. only (iii)   



 

12 | P a g e  APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187 

 

d. All the above   e. Answer not known 
Ra khpahij ,af;fk; fPo;f;fz;ltw;Ws; vij gpd;gw;wpaJ? 
(i) Nky;jl;L kf;fis vjph;f;f td;Kiwahd Nghuhl;lq;fs; 
(ii) gpuhkz mh;r;rfh;fspd;wp jpUkzq;fis elj;jp mth;fSila epiyia 

Fiwj;jJ 
(iii) Nfhtpy;fs; kw;Wk; gpuhkzh;fs; trpf;Fk; ,lq;fis Gwf;fzpj;jy; 
a. (i) kw;Wk; (iii)   b. (ii) kl;Lk; 
c. (iii) kl;Lk;    d. Nkw;fz;l midj;Jk;  e. tpil 
njhpatpy;iy 

 
 

49. Who was the first women M.L.A. in Madras Presidency (1926)? 
a. Dr. Muthulaxmi b. Ramamirtham Ammaiyar 
c. Dr. Subbulaxmi d. Dr. Annie Besant Ammaiyar  
e. Answer not known 
1926> nrd;id khfhzj;jpd; Kjy; ngz; rl;l rig cWg;gpdh; ahh;? 
a. lhf;lh;. Kj;Jyl;Rkp  b. ,uhkhkph;jk; mk;ikahh; 
c. lhf;lh;. Rg;Gyl;Rkp   d. lhf;lh;. md;dp ngrd;l; mk;ikahh; 
e. tpil njhpatpy;iy  

 
50. The first conference of the Justice Party was held at 

a. Coimbatore  b. Salem  c. Trichy  d. Madurai 
d. Answer not known 
ePjp fl;rpapd; Kjy; khehL eilngw;w ,lk; 
a. Nfhak;Gj;J}h;  b. Nryk;  c. jpUr;rp  d. kJiu 
e. tpil njhpatpy;iy 

 
 
51. The seals found in Mohenjadaro was not made of 

a. Ivory b. Conch c. Faience d. Steatite e. Answer not known 
nkhfQ;rjhNuhtpy; fz;nlLf;fg;gl;l Kj;jpiufs; vjdhy; nra;ag;gltpy;iy? 
a. je;jk;      b. rq;F   
c. rpj;jpu Ntiyg;ghL nra;ag;gl;l kl;fyd; d. rth;f;fhuk;  e. tpil 
njhpatpy;iy 
 

52. Which one of the following was as an important port of the eastern coast during the 
Gupta period? 
a. Broach b. Japara c. Tamralipti  d. Kalyan e. Answer not known 
Fg;jh; fhyj;jpy; fpof;F flw;fiuapy; cs;s Kf;fpa JiwKfk; ahJ? 
a. GNuh[; b. [hguh c. jhkpuypg;jp  d. fy;ahz; e. tpil njhpatpy;iy 

 
 

53. ‘Sufism’ originated and developed in  
a. Christianity  b. Hinduism  c. Islam d. Zoroastrianism 
e. Answer not known 
#/gp]k; __________ kjj;jpypUe;J Njhd;wp tsh;e;jJ. 
a. fpwp];Jtk;    b. ,e;J   
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c. ,];yhk;    d. n[huh];bhpahdprk; e. tpil njhpatpy;iy 
 

54. Nicolo Condi, who visited Vijayanagar was a  
a. Italian traveller  b. Persian traveller 
c. Portuguese traveller  d. Chinese traveller  e. Answer not known 
tp[a efu NguuRf;F tp[ak; nra;j epf;Nfhyh fhz;b vd;gth; xU 
a. ,j;jhypa gazp  b. ghurPf gazp 

c. Nghh;j;JfPrpa gazp  d. rPd gazp  e. tpil njhpatpy;iy 
 
55. Who wrote Ain-i-Akbari? 

a. Akbar b. Alberuni  c. Abul Fazl  d. Todarmal e. Answer not known 
“mapd;-,-mf;ghp” vd;w E}iy vOjpath; ahh;? 
a. mf;gh; b. my;g&zp  c. mGy;ghry; d. Njhlg;khy; e. tpil 
njhpatpy;iy 

 
 

56. A can do a piece of work in 10 days and B can do it in 15 days. How much does each 
of them get if they finish the work and earn Rs. 1,500? 
a. Rs. 600, Rs. 900   b. Rs. 700, Rs. 800 
c. Rs. 800, Rs. 700   d. Rs. 900, Rs. 600   

e. Answer not known 
A xU Ntiyia 10 ehl;fspYk;> B mij 15 ehl;fspYk; nra;J Kbg;gh;. ,UtUk; 
Nrh;e;J mt;Ntiyiar; nra;J &. 1>500 I <l;bdhy;> mj;njhifia vt;thW gphpj;Jf; 
nfhs;th;? 
a. &. 600, &. 900    b. &. 700, &. 800 
c. &. 800, &. 700    d. &. 900, &. 600  
e. tpil njhpatpy;iy 
 

57. P and Q can do a piece of work in 20 days and 30 days respectively. They started the 
work together and Q left after 5 days of work and P finished the remaining work in 5 
days. After how many days from the start did Q leave? 
a. 6 days  b. 8 days  c. 9 days  d. 10 days   
e. Answer not known 
P kw;Wk; Q MfpNahh; xU Ntiyia KiwNa 20 kw;Wk; 30 ehl;fspy; Kbg;gh;. 
mth;fs; ,UtUk; xd;whfr; Nrh;e;J Ntiyiaj; njhlq;fpdh;. rpy ehl;fs; Ntiy 
nra;jgpd; Q Mdth; 5 ehl;fSf;F gpd; nrd;W tpLfpwhh; kPjKs;s Ntiyia P 
Mdth; 5 ehl;fspy; Kbf;fpwhh; vdpy; njhlq;fpajpypUe;J vj;jid ehl;fSf;Fg; gpd; 
Q Ntiyia tpl;Lr; nrd;whh;?  

a. 6 ehl;fs;    b. 8 ehl;fs;  
c. 9 ehl;fs;    d. 10 ehl;fs;   

e. tpil njhpatpy;iy 
 
58. A and B together can do a piece of work in 16 days and A alone can do it in 48 days. 

How long will B take to complete the work? 
a. 6 days    b. 12 days  
c. 18 days    d. 24 days  e. Answer not known 
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A kw;Wk; B Mfpa ,UtUk; ,ize;J xU Ntiyia 16 ehl;fspy; Kbg;gh;. A 
jdpNa me;j Ntiyia 48 ehl;fspy; Kbg;gh; vdpy;> B jdpNa me;j Ntiyia 
vj;jid ehl;fspy; Kbg;ghh;?  
a. 6 ehl;fs;    b. 12 ehl;fs;  
c. 18 ehl;fs;    d. 24 ehl;fs;  e. tpil njhpatpy;iy 

 
59. The difference between compound interest and simple interest for 2 years at 6% is Rs. 

18. Find the principal 
a. Rs. 5,100       b. Rs. 5,000  
c. Rs. 5,500    d. Rs. 5,200   
e. Answer not known 
$l;L tl;bf;Fk;> jdp tl;bf;Fk; 6% tPjk; ,uz;lhz;Lf;F NtWghL &. 18 vdpy; 
mrypidf; fhz;f. 
a. &. 5,100     b. &. 5,000  
c. &. 5,500    d. &. 5,200   
e. tpil njhpatpy;iy 

 
60. A principal becomes Rs. 17,000/- at the rate of 12% in 3 years. Find the principal 

amount 
a. Rs. 14,000    b. Rs. 12,500   
c. Rs. 15,200    d. Rs. 13,500  e. Answer not known 
xU njhifahdJ 3 Mz;Lfspy; 12% jdptl;b tPjk; &. 17>000/- Mff; fpilf;fpwJ 
vdpy; mriyf; fhz;f. 
a. &. 14,000    b. &. 12,500   
c. &. 15,200    d. &. 13,500  e. tpil njhpatpy;iy 

 
61. ‘Ayothi Dasa’ founded 

a. Satyashodhak Samaj   b. Samarasa Veda Sanmarga Sangam 
c. Advaidananda Sabha   d. Ayyavazhi d. Answer not known 
mNahj;jpjhruhy; Njhw;Wtpf;fg;gl;lJ vJ? 
a. rj;aNrhjf; rkh[;    b. rkur Ntj rd;khh;f;f rq;fk; 
c. mj;itjhde;j rgh   d. ma;ahtop  e. tpil njhpatpy;iy 

 
62. Name the work that says: Wealth changes its position like a Cart-Wheel 

a. Thirukkural   b. Naaladiyar  

c. Naanmanikadigai  d. Aasarakkovai  e. Answer not known 
‘nry;tk; rflf; fhy;Nghy; tUk;’ – vd;W $Wk; E}y;? 
a. jpUf;Fws;   b. ehybahh;  
c. ehd;kzpf;fbif  d. Mrhuf;Nfhit  e. tpil njhpatpy;iy 
 

63. Which book describes the Marriage Manners of the Sangam Age People? 
a. Puranaanuru   b. Nattrinai   
c. Akanaanuru   d. Kurunthokai  e. Answer not known 
rq;ffhy kf;fspd; kzKiwfisf; Fwpg;gpLk; E}y; vJ? 
a. GwehD}W     b. ew;wpiz  
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c. mfehD}W     d. FWe;njhif  e. tpil 
njhpatpy;iy 

 
 

64. Identify one of the statement is correct regarding the Queen Velunachiyar: 
i. Thandavarayan Pillai served on the daluvay and Pradhani under Queen 

Velunachiyar 
ii. The British troops killed her husband Muthu Vaduga Udayadeva in the battle of 

Kalayar Kovil 
iii. Periya Marudu was a commander of the army under Queen Velunachiyar 
iv. Marudu brother declared the Trichy Proclamation 
a. (i) is correct (ii), (iii), (iv) is incorrect 
b. (i) and (ii) is correct (iii) and (iv) is incorrect 
c. (i), (ii), (iii) are correct (iv) only incorrect 
d. (i), (ii), (iii), (iv) are correct 
e. Answer not known 
fPo;fz;ltw;wpy; NtY ehr;rpahh; Fwpj;j rhpahd $w;W vJ? 
i. jhz;ltuhad; gps;is jstha; kw;Wk; gpujhdpahf NtY ehr;rpahhplk; gzpGhpe;jhh;. 
ii. NtYehr;rpahh; fzth; Kj;J tLf cila Njtiu gphpl;b~; gil fhisahh; 

Nfhtpy; Nghhpy; nfhd;wJ. 
iii. nghpa kUJ NtY ehr;rpahUf;F gilj; jiytuhf ,Ue;jhh;. 
iv. kUJ rNfhjuh;fs; jpUr;rp gpufldj;ij ntspapl;ldh;. 
a. (i) rhp (ii), (iii), (iv) jtwhdJ 
b. (i) (ii) rhp  (iii) kw;Wk; (iv) jtwhdJ 
c. (i), (ii), (iii) rhp (iv) kl;Lk; jtwhdJ 
d. (i), (ii), (iii), (iv) rhpahdJ 
e. tpil njhpatpy;iy 
 

65. Palaeolithic stone tool was discovered first in India in 1863 by whom? 
a. Le Mesurier   b. Robert Bruce   
c. Miles Burkitt   d. Subba Rao  e. Answer not known 
1863k; Mz;L ahuhy; gioa fw;fhy fUtpfs; Kjypy; ,e;jpahtpy; 
fz;Lgpbf;fg;gl;lJ? 
a. yp nkrphp   b. uhgh;l; GU]; 

c. iky;]; gh;fpl;   d. Rg;gh uht;  e. tpil njhpatpy;iy 
 
66. Elaborate survey of land was carried out by the imperial Cholas 

(i) To assess land under cultivation 
(ii) To classify land into different grades 
(iii) To minimize arbitariners in the holding of land 
(iv) To encourage guild system 
Consider the above statement and select the correct response 
a. i, ii and iii are true  b. i and iii are true 
c. ii and iii are true   d. i, ii, iii and iv are true  e. Answer not known 
gpd;tUk; fhuzq;fSf;fhf gpw;fhy Nrhoh;fshy; tphpthd epymsit 
Nkw;nfhs;sg;gl;lJ. 
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(i)   tptrha epyq;fis msg;gjw;fhf 
(ii)   gy;NtW gbepiyfspy; epyj;ij tifg;gLj;j 
(iii) epy chpikfspy; Nkhrbfisj; jtph;g;gjw;fhf  
(iv) tzpff; FOf;fis Mjhpg;gjw;fhf 
a. i, ii kw;Wk; iii rhp   b. i kw;Wk; iii rhp 
c. ii kw;Wk; iii rhp   d. i, ii, iii kw;Wk; iv rhp e. tpil njhpatpy;iy 
 

 
67. To Reform Centre-State relations, major recommendations are made by 

(i) Sarkaria commission    (ii) Punchhi commission 
(iii) Rajamannar committee   (iv) Royal commission 
Select the correct answers by using the code 
a. i and ii   b. ii, iii and iv c. i, iii and iv  d. i, ii and iii  
e. Answer not known 
kj;jpa kw;Wk; khepy cwTfis rPh;jpUj;j Kf;fpakhd ghpe;Jiufis toq;Fgit 
(i)  rh;f;fhhpah FO     (ii) gQ;rp FO  
(iii) uh[kd;dhh; FO    (iv) uhay; FO 

a. i kw;Wk; ii     b. ii, iii kw;Wk; iv   
c. i, iii kw;Wk; iv   d. i, ii kw;Wk; iii   e. tpil njhpatpy;iy 

 
68. Factionalism is politics is the demerits of  

a. Party System   b. Electoral Competition  

c. Democracy    d. Coalition Politics  e. Answer not 
known 
murpaypy; gpsTthjk; vd;gJ xU fPo;tUk; FiwghlhFk; 
a. fl;rp Kiw   b. Njh;jy; Nghl;b   

c.  [dehafk;    d. $l;lzp murpay;  e. tpil 
njhpatpy;iy 

 
69. For getting recognition as ‘National Party’, a party has to fulfil which of the 

following criteria? 
i. Atleast 6% of votes in atleast 4 states 
ii. In the loksabha elections, atleast 2% members from atleast three states elected to 

Loksabha 
iii. Recognition as a state party in atleast four states 
iv. Atleast 8% votes in atleast three states 
a. Any one of the (i), (ii) and (iii) criteria is required 
b. Any one of the (iii) and (iv) criteria is required 
c. Any one of the (ii), (iii) and (iv) criteria is required 
d. Any one of the (i), (iii) and (iv) criteria is required 
e. Answer not known 
xU fl;rp ‘Njrpa fl;rp’ vd;w mq;fPfhuj;ij ngw fPo;fz;l ve;j msTNfhy;fspd;gb 
,Uf;f Ntz;Lk;? 
i. VNjDk; 4 khepyq;fspy; 6% thf;Ffis ngw;wpUj;jy; 
ii. kf;fsitf;fhd Njh;jypy; 2% cWg;gpdh;fis VNjDk; 3 khepyq;fspypUe;J 

Njh;e;njLf;fg;gl;bUf;f Ntz;Lk; 
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iii. VNjDk; 4 khepyq;fspy; khepy fl;rp vd;w mq;fPfhuj;ij ngw;wpUj;jy; 
iv. VNjDk; %d;W khepyq;fspy;> 8% thf;Ffis ngw;wpUj;jy; 
a. (i), (ii) kw;Wk; (iii) ,tw;wpy; VNjDk; xd;W mtrpak; 
b. (iii) kw;Wk; (iv) ,tw;wpy; VNjDk; xd;W mtrpak; 
c. (ii), (iii) kw;Wk; (iv) ,tw;wpy; VNjDk; xd;W mtrpak; 
d. (i), (iii) kw;Wk; (iv) ,tw;wpy; VNjDk; xd;W mtrpak; 
e. tpil njhpatpy;iy 

 
70. Among the following statements identify which is not related with the 42nd 

Amendment of the Indian Constitution? 
a. The word ‘Secular’ added to the Preamble 
b. The state protects all religions equally 
c. It lays emphasis on secular and socialist aspects 
d. It made changes in the last paragraph of the Preamble 
e. Answer not known 
gpd;tUk thf;fpaq;fspy; 42tJ ,e;jpa murpayikg;G jpUj;jj;Jld; nghUe;jhj $w;W 
vJ? 
a. ‘rka rhh;gw;w’ vd;w thh;j;ij murpayikg;G Kfg;Giuapy; Nrh;f;fg;gl;lJ. 
b. murhq;fk; midj;J rkaq;fisAk; rkkhf ghJfhj;jJ. 
c. rka rhh;gw;w kw;Wk; Nrh~paypr vd;w thh;j;ijfSf;F Kf;fpaj;Jtk; 

nfhLf;fg;gl;lJ. 
d. rpy jpUj;jq;fs; Kfg;Giuapy; filrp gj;jpapy; Vw;gLj;jg;gl;lJ. 
e. tpil njhpatpy;iy 

 
 

71. Who griefs confront with meek, ungrieving heart? 
a. The one who makes sorrow suffer 
b. The one who gets dejected in sorrow 
c. The one who escapes sorrow 
d. The one who laughs onlooking sorrow 
e. Answer not known 
,Lk;igf;F ,Lk;igg; gLg;gh; - ahh;? 

a. Jd;gj;jpw;Fj; Jd;gk; jUgth; 
b. Jd;gk; fz;L Jts;gth; 
c. Jd;gk; fz;L tpyFgth; 
d. Jd;gk; fz;L rphpg;gth; 
e. tpil njhpatpy;iy 
 

72. Sukiranidhi, Manunool has been followed by Thirukural say some but this is refused 
and _________ says that Thirukural is the first book. 
a. Nakkiranar   b. Avaiyaar   
c. Manakuvar   d. Parimelazakar  e. Answer not known 
Rf;fpuePjp> kDE}y; Kjypatw;wpd; top E}y; jpUf;Fws; vd;ghhpd; $w;iw kWj;J 
jpUf;Fws; Kjy; E}Ny vd;wth; 
a. ef;fPudhh;    b. xsitahh; 
c. kzf;Fth;   d. ghpNkyofh;  e. tpil njhpatpy;iy 
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73. The meaning of the chapter not Covoting? 

a. Not feeling shy 
b. Not belittling others 
c. Not begging from others 
d. Not desiring others things 
e. Answer not known 
‘nt/fhik’ vd;w mjpfhuj; jiyg;gpd; nghUs; 

a. ntl;fk; nfhs;shik 
b. gpwiu ,fohik 

c. gpwhplk; ,ue;J thohik 

d. gpwh; nghUs;Nky; Mir nfhs;shik 
e. tpil njhpatpy;iy 
 

74. ‘Sire greatest boon on son confers,…… 
… to fill the highest seat’ 
What is the debt of a father to his son according to this Thirukkural? 

 a. To amass wealth 
 b. To make him a bravest person 
 c. Precedence in the assembly of the learned 
 d. To give charity 

e. Answer not known 
 ‘je;ij kfw;F Mw;wk; ed;wp’ – vDk; jpUf;Fwspy; je;ij kfDf;Fr; nra;Ak;  

fldhff; Fwpg;gplg;gLtJ. 

a. nghUs; Nrh;j;J itj;jy; 
b. tPudhf cUthf;Fjy; 
c. fw;wth; rigapy; Ke;jp ,Uf;fr; nra;jy; 
d. jhdk; nra;jy; 
e. tpil njhpatpy;iy 
 

75. Identify Tamilnadu government’s scheme to encourage widow remarriage and 
rehabilitate widows 
a. Sathiyavanimuthu Ninaivu Scheme 
b. Dharmambal Ninaivu Scheme 
c. E.V.R. Maniyammaiyar Ninaivu Scheme 
d. Moovalur Ramamirtham Ammal Ninaivu Scheme 
e. Answer not known 
jkpof murpd; fPo;fz;l jpl;lj;jpd; %yk; tpjit kWkzk; kw;Wk; kWtho;it 
Nkk;gLj;Jk; jpl;lj;ij milahsk; fhz;f. 
a. rj;jpathzp Kj;J epidTj; jpl;lk; 
b. jh;khk;ghs; epidTj; jpl;lk;  
c. <.Nt.uh. kzpak;ikahh; epidTj; jpl;lk; 
d. %t@h; ,uhkkph;jk; mk;khs; epidTj; jpl;lk; 
e. tpil njhpatpy;iy 
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76. Ram deposited Rs. 200 at the beginning of every month in R.D and received Rs. 
19,656 at the end of 6 years. Find the rate of S.I. paid by the bank 
a. 8%  b. 10%  c. 12%  d. 9%  e. Answer not known 
uhk; vd;gth; khjhkhjk; &. 200 I tq;fpapy; njhlh; itg;Gj; njhif (R.D) %yk; 
nrYj;jp te;jhh;. 6 tUl Kbtpy; &. 19>656 I ngw;Wf; nfhz;lhh; vdpy; tq;fp 
mtUf;F mspj;j jdptl;b tPjj;ijf; fhz;f. 
a. 8%  b. 10%  c. 12%  d. 9%  e. tpil njhpatpy;iy 
 

77. In how much time will a sum of Rs. 1,600 amount to Rs. 1,852.20 at 5% per annum 
compound interest? 
a. 1 year     b. 2 years   
c. 3 years     d. 4 years  e. Answer not known 
&. 1>600 MdJ 5% Mz;L $l;L tl;b tPjk; nfhz;L vj;jid Mz;Lfspy; &. 
1>852.20 MFk;? 
a. 1 Mz;L     b. 2 Mz;Lfs;  
c. 3 Mz;Lfs;    d. 4 Mz;Lfs; e. tpil njhpatpy;iy 

  
78. Principal = Rs. 4,000, r = 5% p.a, n=2 years, interest compounded annually 

a. Rs. 320  b. Rs. 410  c. Rs. 280  d. Rs. 450 
e. Answer not known 
mry; = &. 4,000,  Mz;L tl;b tPjk; r = 5%, n=2  Mz;Lfs;> Mz;Lf;nfhU Kiw 
tl;b fzf;fplg;gLfpwJ 
a. &. 320  b. &. 410  c. &. 280  d. &. 450 
e. tpil njhpatpy;iy 

 
79. If one third of a tank holds 45 litres of water, then find the quantity of water that half 

of the tank hold is 
a. 90 l   b. 22.5 l  c. 67.5 l  d. 30    
e. Answer not known 
xU njhl;bapy; %d;wpy; xU gq;fhf 45 ypl;lh; jz;zPh; cs;sJ vdpy; mj;njhl;bapd; 
KOf; nfhs;sstpy; ghjp vt;tsT? 
a. 90 yp  b. 22.5 yp  c. 67.5 yp  d. 30 yp  

e. tpil njhpatpy;iy 
 

80. If GIVE is coded as 5137 and BAT is coded as 924, how is GATE coded? 
a. 5427 b. 5724  c. 5247  d. 2547 e. Answer not known 
GIVE vd;gjd; FwpaPL 5137 kw;Wk; BAT vd;gjd; FwpaPL 924 vdpy; GATE vd;gjd; 
FwpaPL 
a. 5427 b. 5724  c. 5247  d. 2547 e. tpil njhpatpy;iy 

 
81. The Supreme Court has stated that the basic features of the Constitution cannot be 

amended in which of the following cases? 
a. Shankari Prasad Deo (Vs) Union of India 
b. Sajjan Singh (Vs) State of Rajasthan 
c. Raghuvir Singh (Vs) Union of India 
d. Minerva Mills (Vs) Union of India 
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e. Answer not known 
murpayikg;gpd; mbg;gil mk;rq;fs; khw;w ,ayhJ vd;W cr;rePjpkd;wk; jPh;g;G 
mspj;jJ fPo;tUk; ve;j tof;fpd;gb? 
a. rq;fhp gpurhj; bNah (Vs) ,e;jpa muR 
b. r[;[d; rpq; (Vs) uh[];jhd; khepyk; 
c. uFtPh; rpq; (Vs) ,e;jpa muR 
d. kpdh;th kpy;]; (Vs) ,e;jpa muR 
e. tpil njhpatpy;iy 

 
82. The custom of female infanticide was very much prevalent among the  

a. Jats  b. Marathas  c. Rajputs  d. Konds e. Answer not known 
ngz; rpRf;nfhiy tof;fk; _______ kj;jpapy; mjpfkhf ,Ue;jJ 

a. [hl;fs;     b. kuhj;jpah;fs;   
c. ,uh[Gj;jpuh;fs;    d. Nfhz;L  e. tpil njhpatpy;iy 

 
83. Which part of the Indian Constitution envisages a three-tier system of Panchayats? 

a. Part IX  b. Part X  c. Part XI  d. Part XII 
e. Answer not known 
,e;jpa murpay; rhrdj;jpd; ve;jg; gFjp %d;W epiy gQ;rhaj;J mikg;Gfs; epWt 
top tFf;fpd;wJ? 
a. gFjp – IX b. gFjp – X  c. gFjp – XI d. gFjp – XII 
e. tpil njhpatpy;iy 

 
84. The first District which established Panchayat Raj in Rajasthan was 

a. Kota b. Jhalawar  c. Madhopur  d. Nagaur e. Answer not 
known 
uh[];jhdpy; gQ;rhaj;J uh[; epwtpa Kjy; khtl;lk; 
a. Nfhlh b. [yhthh;  c. kNjhG+h;  d. ehfth; e. tpil njhpatpy;iy 
 

 
85. Consider the following statements relating to the Union Council of Ministers: 

I. Article 74 of the Indian Constitution deals with the Council of Ministers 
II. It does not have the collective Responsibility. 
Of these: 
a. I is true     b. II is true 
c. I and II are true    d. I and II are false  e. Answer not known 
kj;jpa mikr;ruit njhlh;ghf gpd;Tuk; $w;Wf;fis Muha;f. 
,e;jpa murpayikg;G tpjp 74tJ mikr;ruitia tpsf;FfpwJ 
mJ $l;Lg; nghWg;ig ngw;wpUf;ftpy;iy 
,tw;Ws;: 
a. I kl;Lk; rhpahdJ   b. II kl;Lk; rhpahdJ 
c. I kw;Wk; II rhpahdJ   d. I kw;Wk; II jtwhdJ e. tpil njhpatpy;iy 

 
86. _____ memorial girl child protection scheme is being implemented by the 

Government of Tamil Nadu. 
a. Dr. Muthulakshmi Reddy memorial 
b. Rani Meyyammai memorial 
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c. Sivagami Ammaiyar memorial 
d. Ramamirtham Ammaiyar memorial 
e. Answer not known 
_____ epidTg; ngz; Foe;ijfs; ghJfhg;Gj; jpl;lk; jkpof murhy; Muk;gpf;fg;gl;lJ. 
a. Dr. Kj;Jyl;Rkp nul;b epidT 
b. uhzp nka;ak;ik epidT 
c. rptfhkp mk;ikahh; epidT 
d. uhkhkph;jk; mk;ikahh; epidT 
e. tpil njhpatpy;iy 
 

87. Whose name is given to the intercaste marriage assistance scheme, provided by the 
Government of Tamil Nadu? 
a. Dr. Muthulakshmi   b. Moovalur Ramamirtham Ammaiyar 
c. Annai Theresa    d. Dr. Dharmambal Ammaiyar 
e. Answer not known 
jkpof murhy; toq;fg;gLk; fyg;Gj; jpUkz cjtpj; jpl;lk;> ahhpd; ngauhy; 
toq;fg;gLfpwJ? 
a. lhf;lh;. Kj;Jyl;Rkp   b. %tY}h; ,uhkhkph;jk; mk;ikahh; 
c. md;id njurh    d. lhf;lh;. jh;khk;ghs; mk;ikahh; 

e. tpil njhpatpy;iy 
 

88. Providing nutrition to ‘Poor Mothers of Infants’ scheme is 
a. Dr. Muthulaxmi Magaperu Thittam 
b. Moovalur Ramamirtham Magaperu Thittam 
c. Anjugam Ammaiyar Magaperu Thittam 
d. Annai Sathiya Magaperu Thittam 
e. Answer not known  
fUTw;w Vio jha;khh;fSf;F Cl;l czT kw;Wk; cjtp jpl;lk; 
a. lhf;lh;. Kj;Jnyl;Rkp kfg;NgW cjtpj; jpl;lk; 
b. %tY}h; ,uhkkph;jk; kfg;NgW cjtpj; jpl;lk; 
c. mQ;Rfk; mk;ikahh; kfg;NgW cjtpj; jpl;lk; 
d. md;id rj;ah kfg;NgW cjtpj; jpl;lk; 
e. tpil njhpatpy;iy 

 
89. According to Census 2011 population density of Tamil Nadu is 

a. 550/sq.km  b. 555/sq.km  c. 560/sq.km 
d. 565/sq.km  d. Answer not known 
nrd;r]; 2011 ,d;gb jkpo;ehl;bd; kf;fs; njhif mlh;j;jp 
a. 550/r.fpkP  b. 555/r.fpkP  c. 560/r.fpkP  d. 565/r.fpkP 
e. tpil njhpatpy;iy 

 
90. Which district is having the highest HDI in Tamil Nadu? 

a. Theni  b. Kanyakumari  c. Ariyalur  d. Chennai 
e. Answer not known 
jkpo;ehl;by; ve;j khtl;lk; mjpf HDI nfhz;Ls;sJ? 

a. Njdp khtl;lk;    b. fd;dpahFkhp 



 

22 | P a g e  APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187 

 

c. mhpaY}h;     d. nrd;id  e. tpil njhpatpy;iy 
 

 
91. Match List I (Article) with List II (Powers of President of India) and choose the 

correct answer using the options given below: 
List I      List II 

A. Art. 53    1. National emergency 
B. Art. 352    2. Appointment of Prime Minister 
C. Art. 76    3. Executive power of the Union vested with     

                                                    the President 
D. Art. 75    4. Appointment of Attorney General of India 
([dhjpgjp gw;wpa) gl;bay; I gl;bay; II cld; xg;gpLf: 

gl;bay; I    gl;bay; II 
A. tpjp 53    1. Njrpa mtru epiy 
B. tpjp 352    2. gpujkh; epakdk; 
C. tpjp 76    3. kj;jpa murpd; ,e;jpahtpd; eph;thf mjpfhuk;  

                        FbauRj; jiythplk; cs;sJ 
D. tpjp 75    4. ,e;jpa jiyik tof;FiuQh; epakdk; 

A B C D 
a. 1 3 4 2 
b.  3 1 4 2 
c. 3 4 2 1  
d. 4 2 3 1 
e. Answer not known 
 

92. The first Article of the Constitution declares that India is 
a. United States   b. Union of States 

c. Federal States   d. All are correct 
e. Answer not known 
,e;jpa murpay; rhrdj;jpd; Kjy; tpjp ,e;jpahit 
a. If;fpa khepyq;fs; vd;wiof;fpd;wJ 
b. xd;wpa khepyq;fs; vd;wiof;fpd;wJ 
c. $l;lhl;rp khepyq;fs; 
d. midj;Jk; rhpNa 
e. tpil njhpatpy;iy 
 

93. Which of the following recommended the establishment of Lokpal? 
a. First Administrative Reform Commission 
b. Second Administrative Reform Commission 
c. Veerappa Moily Committee  
d. Singhvi Committee 
e. Answer not known 
fPo;fz;ltw;Ws; vJ Nyhf;ghy; mikg;ig ghpe;Jiuj;jJ? 
a. Kjy; eph;thf rPh;jpUj;j Mizak; 
b. ,uz;lhtJ eph;thf rPh;jpUj;j Mizak; 
c. tPug;g nkha;yp FO 
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d. rpq;tp FO 
e. tpil njhpatpy;iy 

94. Assertion (A): A State’s health status depends on effective and efficient  
    health care infrastructure. 
Reason (R):  Tamil Nadu attracts medical tourism from around the  

  world. 
a. Both (A) and (R) are true and (R) is the correct explanation of (A) 
b. Both (A) and (R) are true but (R) is not the correct explanation of (A) 
c. (A) is true but (R) is false 
d. (A) is false but (R) is true 
e. Answer not known 

cWjpglf; $wy; (c): xU khepyj;jpd; Rfhjhu epiy vd;gJ mjd; 
gaDs;s jpwikahd Rfhjhu guhkhpg;G cs;fl;likg;igr; 
rhh;e;Js;sJ. 

fhuzk; (fh): cyfk; KOtjpYk; ,Ue;J kUj;jtr; Rw;Wyhitj;  
jkpo;ehL <h;f;fpwJ. 

a. (c)> (fh)- ,uz;Lk; rhp> ,j;Jld; (fh) vd;gJ (c) – tpd; rhpahd tpsf;fk; 
b. (c)> (fh) - ,uz;Lk; rhp> ,j;Jld; (fh) - vd;gJ (c) – tpd; rhpahd tpsf;fk; 

my;y  
c. (c)- rhp> Mdhy; (fh) jtW 
d. (c) jtW Mdhy; (fh) rhp 
e. tpil njhpatpy;iy 

 
95. Name the Chief Minister of Madras Presidency (Tamil Nadu) when India got 

independence in 1947. 
a. Tanguturi Prakasam  b. O.P. Ramasami 
c. C. Rajagopalachari  d. P.S. Kumaraswamy Raja  e. Answer not 
known 
1947> y; ,e;jpah Rje;jpuk; mile;jNghJ nrd;id khfhzj;jpy; (jkpo;ehL) 
Kjyikr;ruhf ,Ue;jth; 
a. jq;FJ}hp gpufhrk;   b. O.P uhkrhkp 
c.  C. uh[Nfhghyhr;rhhp  d. P.S. Fkhurhkp uh[h e. tpil njhpatpy;iy 

 
96. 8CM@N₤T2Y6S Q$7*W#Z3UE%A4 

If all the vowels are dropped from the above series, which of the following would be 
the eighth element to the right of the thirteenth element from the left end? 
a. 4  b. 8  c. %  d. C  e. Answer not known 
8CM@N₤T2Y6S Q$7*W#Z3UE%A4 
NkNy cs;s njhlhpypUe;J midj;J capnuOj;Jf;fisAk; ePf;fpa gpd; fpilf;ff; 
$ba Gjpa njhlhpy; ,lJ KidapypUe;J cs;s 13 MtJ cWg;Gf;F tyJ 
Gwj;jpy; ,Uf;Fk; 8 MtJ cWg;ig fhz;f? 
a. 4  b. 8  c. %  d. C  e. tpil njhpatpy;iy 

 
97. The area of a square and a rectangle are equal. If the side of a square is 40 cm and the 

breadth of the rectangle is 25 cm, then the length of the rectangle is 
a. 58 cm  b. 60 cm  c. 64 cm   d. 68 cm 
e. Answer not known 



 

24 | P a g e  APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187 

 

Xh; rJuk; kw;Wk; Xh; nrt;tfj;jpd; gug;Gfs; rkk;. rJuj;jpd; gf;fk; 40 nr.kP> 
nrt;tfj;jpd; mfyk; 25 nr.kP vdpy; nrt;tfj;jpd; ePsk; 
a. 58 nr.kP  b. 60 nr.kP  c. 64 nr.kP   d. 68 nr.kP 
e. tpil njhpatpy;iy 

 
98. What percent of a day is 3 hours? 

a. 
1

12 %
2

 b. 
2

16 %
3

 c. 
2

18 %
3

 d. 
1

22 %
2

  e. Answer not known 

xU ehspy; 3 kzp Neuj;jpw;fhd rjtPjk; vt;tsT? 

a. 
1

12 %
2

 b. 
2

16 %
3

 c. 
2

18 %
3

 d. 
1

22 %
2

  e. tpil njhpatpy;iy 

 
99. Choose the correct district which is rich in Iron Ores in Tamil Nadu? 

a. Ariyalur  b. Madurai  c. Salem  d. Kallakurichi 
e. Answer not known 
jkpo;ehl;by; ,Uk;Gj; jhJf;fs; mjpfk; epiwe;j rhpahd khtl;lj;ijj; 
Njh;e;njLf;fTk; 
a. mhpaY}h;  b. kJiu  c. Nryk;  d. fs;sf;Fwpr;rp 
e. tpil njhpatpy;iy 

 
100. India’s major deposits of Lignite are located in 

a. Jharkhand   b. Tamil Nadu 

c. Andhra Pradesh   d. West Bengal  e. Answer not known 
,e;jpahtpy; mjpf gOg;G epyf;fhp gbTfs; cs;s khepyk; 
a. [hh;f;fz;l;   b. jkpo;ehL 
c. Me;jpug; gpuNjrk;  d. Nkw;F tq;fk;  e. tpil njhpatpy;iy 
 

 


